}E$ffﬁio)muw

B 3G A G/ CNBDEL S SREBTZTILS |

. 154 5B AT H12 |

BB DBSN THIIL. aﬁf e ’A 6?27 ?mg cEFET,
[£=#EA]) 10/20(L) E=HEEERIIE 60 45 6-0- 10812 40

® 10 #% 9 # 8 # 7% 6 & 5 #& 4 & 3 # #2 2%
HERats | % 5:50 | F1%£5:50 | A 5:50 | £ 5:50 | £ 5:50 | F#%5:50 | F%7:30 | F%5:50 | F%5:50 | F%5:50
BEH 1,500 M 1,500 M 1,500 M 2,000 M 2,000 M 2,000 M 2,500 M 2,500 M 2,500 M 3,500 1

B IhN2 IN3 N INS ING i1 2 F3 B 1-2 = 2-3
---------------------------------------------------------- IO B -mmmmmmmmmmmm oo oo

== g —
JEFRToAE =10 5I6-I0RS
SRk K % A% AH BEES
L))

& A =]

HAME=>9/24 (K) neri:i Ham-cuiLcrrezy.

---------------------------------------------------------- ] 1) B 1) -eeeeeeseeeemss e
SEBEeraZ = RSBV RS
2R IR K % 4 HH BiEES
i) 53

& A =]

HAM=>9/24 (k) meri:i Ham-cwiL o rrezy.

---------------------------------------------------------- ] 1) JL1 <reeesseeesseeces e
SEBEeraZ = RSB IDRS
2R IR K 2 $FAH BEES
maE

& A S|

HAGN=9/24 (k) wersi Hamcmircrrass.,




